[7Dd'A]
15:00 B3 18

1630 A== sl
16: 35),{1_”:%&,;

g/ 7@

4=13€4 15305 15

ZAr: 58 DM % B 8L 5
N F#909-4

16:45 TR (X BLRAEL Mk 5-)
) EBABYIIY— b 5

18:30 : D

18:45 1A E5ES pet _

19:00 I )

20° 45) gbgﬂﬂéﬁé{z‘;ﬂ?ﬁ '/ 30 =

: N (FFATT {
inmm YL

" PN 2 ey,

FYARURBHE | = . bl B |

16:(:‘)_6~?8:30“ 5 iﬁ l B — 5 f '
I

au 4 — /
igH sbY y’f sq )

\

‘ wa«»mmst | 5. /

{ TIdWF—X1 J 17 30 18 30 R \;z/“
o .. L 1 _. H\

T HIN KN (mom s kBRI

[CHE=|cHKDL!
[BEVADE] sl gL EEaTnE HRIIFEX R B0746(63)0200 X RO—>0RiTIdCHHE % ¢




